Maytag MAF35MC4VL 07 - SUB ASSEMBLY (MAF35MC4VXx)

39/
3 n

(A)DETAL OF DRAN VALVE
REAR VEW

Maytag Commercial Maytag MAF35MC4VL Washer Parts Parts Diagram 07 - SUB ASSEMBLY (MAF35MC4Vx

Click on the part number to view part

Original Part Number Replaced By Part Description
. KIT ASSY., FRAME (2
001 24001371 Not Available SPEED)
002 24001511 Washer, Hardened
003 24001512 Not Available '13/'2"; COTTERE SRt
004 24001802 Not Available SUPPORT ROD, MOTOR
005 24001021 Bushing, Motor
006 24001017 Bearing, Motor
" 24001083 Motor, 2SP
007 24001648 Not Available KEY (MOTOR 3/16™ X 1 1/27)
008 24001651 Not Available CLIP, MOTOR SPRING
009 24001650 Not Available SPRING (BELT TENSION)
010 24002042 Pulley, Motor
011 24001502 8204624 Bolt
. (B)CONNECTION, TEE-
012 24001826 Not Available DRAIN

013 24001095 Belt, V


http://www.pwslaundry.com/c-299687-commercial-maytag-maf35mc4vl-washer-parts-for-repair-service
http://www.pwslaundry.com/i-7800222-maytag-24001511-washer-washer-hardened.html
http://www.pwslaundry.com/i-7799960-maytag-24001021-washer-bushing-motor.html
http://www.pwslaundry.com/i-7799956-maytag-24001017-washer-bearing-motor.html
http://www.pwslaundry.com/i-7799978-maytag-24001083-washer-motor-2sp.html
http://www.pwslaundry.com/i-7800416-maytag-24002042-washer-pulley-motor.html
http://www.pwslaundry.com/i-7800217-maytag-24001502-washer-screw-1-4-20-x-3-4.html
http://www.pwslaundry.com/i-10763572-maytag-8204624-washer-bolt.html
http://www.pwslaundry.com/i-7799989-maytag-24001095-washer-belt-v.html

014 24001501 Washer, Stainless Steel

015 Y 24001500 Screw, S.s.
016 24001499 Not Available KEY (3/8 X 1 1/4™)
017 W10124350 Not Available AoE N RED PARTOR
018 24002048 Bearing, 6308-2RS
019 24001495 Nut, Fiberlock

" 24001563 Nut, Fiberlock
020 24001283 Not Available CLAMP, HOSE (No.28)
021 24001506 Hose, Overflow
022 24001260 Kit, Trunnion
023 24002048 Bearing, 6308-2RS
024 24001020 Seal, Shaft
025 24001661 Not Available HOSE, AIR DOME
026 24001438 285655 Clamp, Hose
027 24001803 Not Available SHIM, SHELL
028 24001377 Not Available KIT, SHIELD RETRO
029 24001184 Gasket Kit
030 24001389 Not Available KIT, BAND SHELL
031 24001215 Kit, Band Fastener
032 24001215 Kit, Band Fastener
033 24001215 Kit, Band Fastener
034 24001804 24001268 Basket 35
035 24001385 Not Available KIT, FRONT SHELL
036 24001657 Bolt
037 24001516 Washer, Flat Pltd.
038 24001353 696392 Hose Clamp
039 24001660 Hose, Drain
040 24001116 Valve, Drain
041 24001565 Hose, Drain
042 24001805 Not Available TRIM, FRONT PANEL
043 24001497 Bolt, S.s.

" 24001807 Bolt, S.s.
044 24001809 Washer, Flat

" 24001810 Washer, Flat
045 24001515 Nut, Fiberlock Pltd.

046 24001271 Collar


http://www.pwslaundry.com/i-7800216-maytag-24001501-washer-washer-stainless-steel.html
http://www.pwslaundry.com/i-7805545-maytag-y24001500-washer-screw-s-s.html
http://www.pwslaundry.com/i-7800418-maytag-24002048-washer-bearing-6308-2rs.html
http://www.pwslaundry.com/i-7800211-maytag-24001495-washer-nut-fiberlock.html
http://www.pwslaundry.com/i-7800256-maytag-24001563-washer-nut-fiberlock.html
http://www.pwslaundry.com/i-7800220-maytag-24001506-washer-hose-overflow.html
http://www.pwslaundry.com/i-7800079-maytag-24001260-washer-kit-trunnion.html
http://www.pwslaundry.com/i-7800418-maytag-24002048-washer-bearing-6308-2rs.html
http://www.pwslaundry.com/i-7799959-maytag-24001020-washer-seal-shaft.html
http://www.pwslaundry.com/i-10763605-maytag-285655-washer-dryer-clamp-hose.html
http://www.pwslaundry.com/i-7800030-maytag-24001184-washer-gasket-kit.html
http://www.pwslaundry.com/i-7800042-maytag-24001215-washer-kit-band-fastener.html
http://www.pwslaundry.com/i-7800042-maytag-24001215-washer-kit-band-fastener.html
http://www.pwslaundry.com/i-7800042-maytag-24001215-washer-kit-band-fastener.html
http://www.pwslaundry.com/i-7800085-maytag-24001268-washer-basket-35.html
http://www.pwslaundry.com/i-7800314-maytag-24001657-washer-bolt.html
http://www.pwslaundry.com/i-7800225-maytag-24001516-washer-washer-flat-pltd.html
http://www.pwslaundry.com/i-7802445-maytag-696392-washer-dryer-hose-clamp.html
http://www.pwslaundry.com/i-7800317-maytag-24001660-washer-hose-drain.html
http://www.pwslaundry.com/i-7800003-maytag-24001116-washer-valve-drain.html
http://www.pwslaundry.com/i-7800258-maytag-24001565-washer-hose-drain.html
http://www.pwslaundry.com/i-7800213-maytag-24001497-washer-bolt-s-s.html
http://www.pwslaundry.com/i-7800397-maytag-24001807-washer-bolt-s-s.html
http://www.pwslaundry.com/i-7800399-maytag-24001809-washer-washer-flat.html
http://www.pwslaundry.com/i-7800400-maytag-24001810-washer-washer-flat.html
http://www.pwslaundry.com/i-7800224-maytag-24001515-washer-nut-fiberlock-pltd.html
http://www.pwslaundry.com/i-7800086-maytag-24001271-washer-collar.html

	Maytag MAF35MC4VL 07 - SUB ASSEMBLY (MAF35MC4Vx)

